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Costs QALYs 

ICER 

Incremental net health benefit (95% CI) 

(95% CI) (95% CI) k=£15,000 k=£20,000 k=£30,000 

    [P(most costly)] [P(most effective)] [Probability of being cost-effective] 

              

Control 

£726.83 17.99817 

  

- - - 

(557.51, 923.25) (17.97501, 18.02232) - - - 

[0.152] [0.095] [0.185] [0.157] [0.129] 

SWAL only 

£765.16 18.00801 

£3,892.33 

0.007 0.008 0.009 

(616.02, 933.43) (17.98498, 18.03237) (-0.02, 0.035) 
(-0.018, 

0.034) 

(-0.017, 

0.033) 

[0.265] [0.369] [0.409] [0.4] [0.391] 

SWAL plus desk 

£810.88 18.01039 

£19,279.56 

0.007 0.008 0.009 

(685.76, 946.96) (17.99047, 18.03061) 
(-0.025, 

0.039) 

(-0.023, 

0.038) 

(-0.022, 

0.038) 

[0.583] [0.536] [0.406] [0.443] [0.48] 

 

  




